TecTnpoBaHue No XMMmn Ha
TEMY:
Ha3BaHNe TeMbI

BbinonHun:
YY4EHUK

CpegHeN LLKOrb!
Ne7/

10 knacca «A»
BepeTeHHNKOB



BbibepeTe npaBunbHoe Ha3BaHWe
BelllecTBa
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1 —2,3-gMmMeTunodyTeH-1
2 — 2-MeTun-3mMeTunnoyTteH-1
3 — 2,3-AMMeTUnoyTeH-3
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B Monekyne ateHa yron mexay
rmopmnaHbIMM opbutTansgamm

PaBEeH:
1-109°28
2 —120°

3—-180°
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YKaxute Tun nsomepun ang

BeLleCTB
_ CH
CH,=CH-CH,-CH, - CH, 2
\
CH, CH,
1 — yrnepogHoro ckenerta |
2 — MeXKnaccoBag
3 — reomeTpuyeckas CH, - CH,
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N
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[lpaBunbHo!!!




HeBepHbI OTBET!!



[lpaBunbHoO!!!




HeBepHbI OTBET!!



[lpaBunbHoO!!!




HeBepHbI OTBET!!



KoHeLl TecTUpoBaHUA



